BA 353: Operations Management





Week 13
· Return/Discuss In Class Exam 3 and THE3
Inventory Control
· Balance:  Need the correct amount, not too much, not too little.
· Necessary, but costly.  70s (High, 80s & 90s ( Low, Now ( Lowish

· Costs:

· Holding:  warehousing, loss of interest income, pilferage, obsolescence

· Setup/Delivery: cost to prepare/produce order

· Shortage: customer unhappiness, loss of potential profit, shipping costs

EOQ Model

· D = annual demand which is constant and known

· Q = order quantity

· S = setup cost

· H = holding cost (per year, per unit)

The Question: How much to order, and when?

· Draw sawtooth graph.

· Derive IC = (D/Q)S + (Q/2)H

· Do problem A) – try Q = 100 and Q = 1000 first.

· Do ROP.

· (100, 447)

· Do B) and C)
